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1 Growth of functions Review

2 Sequences Series

2A valve ofarbitrary term
2B sum the first n terms
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2Sequencestsend

Sequence ordered list of numbers

like a set except

ordermatters

dupesareok

numbersonly

Finite seq a az as an

Infiniteseq 9,22 23

2k valve of the Kth term

we care about

I computing the valve of 2k

sequence has a pattern
we can figure at thenext term given the fist 3 5

what form ta for Kth term so I don't need

to compete everything else

2 Sun of the first n valves

we could calculateby hand or in a loop recursion

want formula for the sum of the fist n tens



Goal for both fomebas

don't need all the previous valves to Compte

wen given k a few otherthings compete a in onestep

to
byhand or with a loop recursion it's k steps

lemony

same with sampling snot fist n

1030

12JFormula for term I

Depends on what type of sequences

1 arithmetic each has fomin
2 geometric big three for a

3 quadratic

Imceti always add same name to get to next term

4,7 10 13 16 26 19
2 22 23 2 25



always add 3 to get to next term

E d common difference

Formula for4 2 t kD.d

Accordingto formula 2 4 6 1 3

y 5.3

19 I

Zay 4 94 1 37

4 93 3

283

Geometry always multiply by same valve to get next term

I 2,4 8 16,32 27 64
2 32 23242526

always multiplyby 2 to get next valve

Es r common ratio

Formula for 2y 21 ptd



as
According to formula

27 1 26 64

213 17212 4096

Quadratic valve of 2k is givenby 1242 42
our job is to figure out a b c Ck k2 aregiven

How do we know it a sequence is quadratic

its differences we arithmetic

3 3 13 27 45

diffs 6 10 14 18 7 ditts are arithmeticseq
4 4 4 common diff 4

Send level
difference

this sequence is quadratic therefore 2K 2K2 b

weknw

we need a b c
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3 equations need to find 3 variables

42 2b c 3

aI É 5 in tamsota b 6 32

92 Jb C 13

Plug in b 6 3 a

82 25 16
SolvefoCT

82 2 6 32 16
24 2 k 2 bk te
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82 12 62 16
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2MW
Solvang

2K 2 K Ok to
5 6 32
6 3 2 0 a 5
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2Bsmofthefirstnkmdpa.ae Series
In general Eyak 2 that tan by de ta

linear

want formula to compete the sum constant

depends on type of segence

Arithmetic

exo 4 7,10113 16
2 22 23 2 25

É 4 7 10 13 34

Formula 44
4ms tt1a

KE

According to formula
terms y

K 13 2.17

first 4É K 50last 2 4 3 3 13 I
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EK Im
1st 2,00 4 99 3 30

t 1525

exubeometric

exo 1,214,0 16
2 22 23 4 25
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2k 1 2 4 8 15

Formula w 2

According to formula
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what type of sequence do you have

Arithmetic Common difference

Geometric Common ratio

Quadratic differences we arithmetic

Arithmetic

4t2tCKD.IT
22

tm h

KE

Geometric

ZK 2 pk

k
2 I

k 1

Quadratic




